A fL#F R

# 2 HREEREEXRBERR

FEIN= SF3E118 48 THI 910 EALEREH  SMSE11A8H

FE (f4E 6,000,000
S mxF A A K £ Z i3] =
(EEEE 3,918,000
#TEL 4110,000
(B B 4 426,300
F—INUTY—=2T 8 (#k) ¥ R
() BEEE 4 199,000
L 4 200,000
FHERILELFIVIR 3,900,000
)7y 70 4 500,000
) THES 3,740,000 L
EEEE ) 3,780,000
HBEREZEL 4 384,500
IR EOELT: 3= 4 350,000

XEEH RMESE 3,736,478M
29,061,500 (AL ME11E D, ALLABORSEDHAAFLIZEMNLIBIZAFSNED20%ETN2E (A) RURIEZED
HIAHZELE=EMNDIBEIZAFLSINBED20%ETD2E (V) ZBRULN=7EDEET) +7%x90/100



